
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 7,629,971,008   1= ljb]zL d"b|f / ;]So"l/^L 366,871,638,000

2= rng rNtLdf /x]sf] gf]^ 359,241,666,992

hDdf lgisflzt gf]^ 366,871,638,000

hDdf bfloTj 366,871,638,000   hDdf ;DklQ 366,871,638,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 3,000,000,000   1  gf]^ 7,629,971,008
2 ;fwf/)f hu]*f sf]if 21,668,832,750   2  /]RsL -
3 df}lb|s bfloTj sf]if 3,489,959,379   3  ljb]zL d"b|f 18,410,801,332
4 ljsf; sf]ifx? 13,794,219,025   4  ljb]zL a}+s df}Hbft 138,256,240,918
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 3,173,726,657
6 ;^xL ;lds/)f sf]if 64,644,715,969   6  ljb]zL a)* 138,889,249,662
7 ;"grf¤bL ;lds/)f sf]if 4,480,191,137   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if (104,944)      -s_ :jb]zL 60,355,114
9 lgIf]k      -v_ ljb]zL 17,133
   -s_ g]kfn ;/sf/ 217,010,294,701   8  nufgL
   -v_ afl)fHo a}°x? 132,400,579,977      s= ljb]zL ;]So"l/^L 233,769,693,190
   -u_ ljz]if lgIf]k -      v= g]kfn ;/sf/sf] ;]So"l/^L 21,309,477,917
   -#_ cGo 37,993,903,644      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,423,761,888
10 e"QmfgL lbg"kg]{ lan 299,819,109      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa 10,000,000,000      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj 10,000,000,000   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 10,217,527,635      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 71,759,517,558      v= jfl)fHo a}+sx?nfO{ 3,365,686,335

     u= ljQLo ;+:yfx?nfO{ 94,900,000
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,404,047,649
  10 ;"g df}Hbft 1,572,596,043
  11= cGo ;DklQ 27,367,931,093

hDdf OSjL^L tyf bfloTj 600,759,455,939   hDdf ;DklQ 600,759,455,939
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